BRIGGS&STRATTON

lllustrated Parts List

Portahle Generator
Model 030372

BRIGGS & STRATTON POWER PRODUCTS GROUP, LLC
JEFFERSON, WISCONSIN, U.S.A.

Manual No. 204883A Revision - (01/11/2008)

Download from Www.Somanuals.com. All Manuals Search And Download.



Exploded Views and Parts Lists

EXPLODED VIEW - MAIN UNIT

Copyright © 2008 Briggs & Stratton Power Products Group, LLC. All rights reserved. No part of this material may be

reproduced or transmitted in any form by any means without the express written permission of Briggs & Stratton Power
Products Group, LLC.

BRIGGSandSTRATTON.COM

Download from Www.Somanuals.com. All Manuals Search And Download.



Exploded Views and Parts Lists

PARTS LIST - MAIN UNIT

Item Part #

OCoOoO~NOYOTRWN —

205612GS
203694GS

*

791745
204748GS

*

204735GS

*

204772GS

* X X X

*

83083GS

B4986GS

200310GS
202997GS
194984GS
188333GS
94480GS

204740GS
204741GS
204736GS

*

*

204737GS
204738GS

Description

CRADLE (Includes Items 20 & 21)
WIRE, Ground

WASHER, Lock, M8 Zinc Plated
HEX BOLT, M8 x 30, Zinc Plated
KIT, Fuel Line (cut to fit)

WING NUT

WASHER, Lock M8

HHCS, 5/16 - 24

ABSORBER, Vibration

SHCS, M8 x 30

HHCS

ASSY, Alt

WASHER, M8, Zinc Plated
WASHER, Flat, M8 x 16

HEX NUT, M8, Zinc Plated

NUT, M10

WASHER, Lock, M10 Bk Zinc Plated
WASHER, Flat, M10

SCREEN, Spark Arrest

DECAL, Ground

DECAL, Warning, Exhaust
DECAL, Warning CO

DECAL, Warning Fuel

DECAL, Warning Fuel Fill
DECAL, Fuel Instructions

WIRE END SEAT

WIRE END SEAT, White

PAD, Plastic

HHCS, M8 x 35

WASHER, Flat, M8 x 16

NUT, Nylon M8, Zinc Plated
QUICK CONNECTOR

TUBE

Item Part #
34 204739GS

36 *
37
38 204749GS
39 205614GS

40 204744GS

42
43 204743GS

45

46 697815
47 188301GS
48 191785GS

50 204742GS
51  204774GS
52 204776GS

54 204777GS
55  204775GS
56 204773GS
57 203705GS
58 197797GS
900 §

Parts Not lllustrated
204883GS
BB3061BGS
205613GS

Description
CAP, Fuel
SCREW, M6 x 30
WASHER, Flat, M6 x 24
NUT, M8
GROMMET, Tank
ASSY, Tank, Fuel (Includes Items 22,

23,24, 25 & 58)
GAUGE, Fuel
SCREW, M5 x 10

NUT, Nylon, M6
VALVE, Fuel
HHCS, M6 1.0 x 12 with LW
SHCS, M6 - 1.0 x 20
GASKET, Exhaust
MUFFLER
BRACKET, Muffler
SCREW, M8 x 25
FILTER
CAPACITOR
WASHER, Capacitor
NUT, Nylon, M8
SCREW, Capacitor
COVER, Alt
RUBBER
FLANGE, Alt
DECAL, Fuel Shut off
ENGINE

MANUAL, Operator’s
Oil Bottle
KIT, Decals, Service

* - ltems without part numbers are common fasteners and
are available at your local hardware store.

§ - Contact Engine Manufacturer

Download from Www.Somanuals.com. All Manuals Search And Download.



Exploded Views and Parts Lists

CONTROL PANEL EXPLODED VIEW & PARTS LIST
9 4

z 2

ltem Part # Description

1 203692GS CONTROL PANEL (Includes decal)
2 NUT, Nylon

3 - WASHER, M4 x 08

4 = SCREW, M6 x 16

5 68759GS OUTLET, 120/125V, 15/20a, Duplex
6 SCREW, Pan Head, M4x10

7 203527GS CIRCUIT BREAKER, 15A

8 68867GS OUTLET, 120/240V, 20a, Locking

9 SCREW, M3 x 06

10 * LOCK WASHER

Parts Not lllustrated
205615GS DECAL, Control Panel

* - ltems without part numbers are common fasteners and are
available at your local hardware store.

4 BRIGGSandSTRATTON.COM

Download from Www.Somanuals.com. All Manuals Search And Download.



Exploded Views and Parts Lists

WHEEL KIT EXPLODED VIEW & PARTS LIST

@\\\\\i%\\

%\\\\\@

Iltem Part # Description

204780GS KIT, Handle

204778GS KIT, Pad Vibration Mount
204779GS KIT, Wheel

204548GS Axle

Howno =

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

